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Which two statements about the waterfall model of software development are true?
(Choose two.)
Response:

A. One phase of development must be completed before the next phase can start.

B. Multiple phases of development can be worked on simultaneously, everything must be finished
before production.

C. This method lacks flexibility.

D. This method provides a way to make changes quickly and add new features on demand.

Answer: A,C

Which Junos system process handles NETCONF automation commands?
Response:

A. snmpd
B. eventd
C. mgd
D. jsd

Answer: B,C

You are asked by your manager to allow API access to your Junos devices. Your solution should have a
GUI API explorer to test RPC commands. In this scenario, what are you being asked to support?
Response:

A. NETCONF
B. REST

C. SNMP

D. Python

Answer: B
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Ansible playbooks are written in which format?
Response:

A.JSON
B. XML

C. YAML
D. Python

Answer: C

What is required to enable the Junos OS to accept NETCONF sessions on port 830?
Response:

A. Initiate an event with the <create-subscription> command.

B. Define the port number that NETCONF will use.

C. Purchase a NETCONF license.

D. Enable NETCONF using the set system services netconf ssh command.

Answer: D

You are asked to securely copy a software image to a remote device using a Python script. Which PyEZ
module would you use to perform these changes?
Response:

A. utils
B. config
C. ftp

D. scp

Answer: D

Which statement is correct about XML element nodes?
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Response:

A. The element node is the value assigned within an opening and closing tag pair.

B. An element node cannot be nested with another element node.

C. The element node is defined by the first opening and closing tag pair of the XML document.
D. An element node consists of everything between an opening and closing tag pair.

Answer: D

What represents the Infrastructure as Code workflow?
Response:

A. Code > Code Review > Version Control > Integrate > Deploy
B. Code > Version Control > Code Review > Deploy > Integrate
C. Code > Version Control > Code Review > Integrate > Deploy
D. Code > Code Review > Integrate > Version Control > Deploy > Integrate

Answer: C

Which example displays a YAML mapping?
Response:

A. hostname@ router
B. hostname> router
C. hostname: router
D. hostname# router

Answer: C

What are two advantages of the DevOps approach to network automation?
(Choose two.)
Response:

A. to lower cost

B. to improve quality
C. to perform manual configuration tasks
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D. to rotate job roles

Answer: A,B
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